ane

< A T
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35. 5~ 5

the ratio of two side lengths for the triangle is given.

.qum“ 3 | — In Exercises 37-39,

10/in. — the variable. .
6 ‘3_ 12t 2 18 in. SO'VO for 38. AB: CB is 2: l. 3 3’ ACGB‘C,;@'I " fl
_— A Bin 3 | 37. AC:ABis3:4. 9 : .
Use the number line to find the ratio of the distances. | 8 Ax

\ C

E A ' B . "’ i
10. _.Q. - . _l_)_l: l‘ _@_[_,: 3
CF 2 . & 2. 9C 5 3. 76 7 |

A 12 8

14. Perimeter The perimeter of a rectangle is 56 inches. The ratio of the length to the e rectangular front lawn of the library is 192 feet. The ratio

"he perimete fth
P i ined BieJengtund the widll; 24 tn., 41n. } - A; fl?e ?t.l:megth :;n:g:iv?dth is 5 ¢ 3. Find the area of the lawn. 2160 f?
0 ¥ '

18. Area The area of a rectangle is 525 square centimeters. The ratio of the length to e ation
the width is 7: 3, Find the length and the width. 35 cm. 15 ¢m | In Exercises 41 and 42, use the following inform .

Golden Gate Bridge You purchase a ccale model of the Golden Gate Bridge which is

m'_.i ' ."t::m :L:h:::;:l::olf o trfi::gle e i:;tho SXtIIcded ratio given. ln located nedr San Francisco, California, The model states that the scale 1s 1 inch: 50 feet.
i PSR O RN L The actual length of the bridge is 8980 feet.
16. 1:7:10 10° 70° 100° 17. 5:6:7 50" 607 70° L 741415 35°. 700, 78 : ;
_ 6 ST, 607, 7€ 18. 7:14:1 5 1. What is the length of the model? 1796 mn
Solve the proportion. | 42. The model 15 appm\uudtelv |5 inches tall.
19. 1=2 » 20. 2= 45 z+2 _ 271 4 What is the actual height of the bridge? 7501t
- e T & gy P4 el = T !
3 1 3 2 . 2 5 .
2 x x—06 2 3. nFS m+) 2% =1 %34
|
I

8 Chapter 6 Resource Book . | | o

Practice B ”—"g‘%?" Practice B comines

For use with peges 364-370 L W& | Forusewithpupes 364-370
Copy and complete the statement. 16, Error Anaiysis llescuibe and correct the error made in the reasoning. |

I . | 6 5 6 2 =x x x ? - : c ' 1 two ratios are equal, then thcir-recipmcalsarezqmll
1. If"-—:-;:‘ ﬂwn -=$ ‘— 2. Ifl’i = AE then -‘ = If ‘: ==, then 1'2 = _ X . @ b o S = 3
. : 1" AN 2 1)
3. If =_, m "‘*‘4 ;:. AL 4. If ?; - E then -'-21 = : (' - ' 17. Map Scale On a map, two neighboring towns are 2.4 inches apart. The actual
¥ . | ‘ strmghit hine distance berwzen the two towns i1s 36 miles. What is the scale of
themap? | in . IS mi
Decide whether the statement is true or false.
- 3 x 8 ), PR 18. Collinear Points The points (—3, =3), (—1, 1),:and (2. y) are collinear
*‘1- g true 6. If .3 then = =7, [liise
| Iind the value of y by solving the propartion: o SR - 7
x 3 x__ 8 e e —1=(=3) 2=
=== false 8. If =73 then § =75, bue
g ' 19. Sales Tax You plan on purchasing a new $25,000 vehicle. Recently, a friend bought
x+8 _p+ 3. . 10. If %= g. fhan 2T 2y _ '3‘*_ o a ?2 200 vehicle and paid an additional $1575 in sales tax. Assummg th@sumc
8 3 y v L sales tax rate applies, how much should you expect to pay in sales tax? 311750
I
agram and the given information to find the unknown length. .'. In Exercises 20 and 21, use the following information.
(B AE .. e AB _ AL e g pe g ' Scale Model You purchase a scal del
=2= find BC. 2 12. Given Y | ale model of a train.
=ED “BBC ~ ED | The model states that the scale is 1 inch: S 4 feet.

i/

20. Ifthe model s 10 inches long, how long is the actual train? 54
21. The actual height of the train is 13,5 feet, how tall is the model? 2.5/in.

AB _ FE o= Shille
14. Given 3= = 5p find AC. = a sombrero at a pift shop

Z’INOSST]
: LESSON 6.2 -::.;A:: s

22. What was the price of the sombreromAmenmd ;

23 [fthe mhan era MQ%MM : —--_—'-‘a*: w.. S
the cnstbeen in American dollars? .*82 '2.‘19.‘ o | Americ

""'2\3;,!!”&- ""-
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e figures. Then write the ratios of
t of proportionalltv

2. OWXYZ ~ OMNOP £W=4LM, LX= LN,
LY=SLO. LZ=ZP

In Exercises 13 and 14, use the following information.

WY \F; Yz _ Wz ": Similar Triangles Triangles RST and WXY are similar. Theside» N, ,; S
‘ s 10 inches. 14 inches, and 20 inches, and the length of an altitude is 6.5 i

— _—— — ——

]\"f.if NO ™~ oP~ MP §
3, Multiple Ch ( l side of AWXY is 15 inches long.
dgt comectt - ¥ 13. Find the lengths of the other two sides of AWXY. XY =30 m. ‘_. 21 in.

Find the length of the corresponding altitude in A WXY. 9.75"_1125.'

CA AB . -
15. Multiple Choice The ratio of one side of A ABC to the cor
similar ADEF is 4: 3. The perimeter of ADEF is 24 mchw

of AABC? C

in sther the polygons are similar. If they are, write & similarity
ﬂld flnd the scale factor.

A. 18 inches B. 24 inches C. 32 inches

D no

in the diagram, A XYZ ~ AMNP.
16. Find the scale factor of AXYZ to AMNP. %

-
-

17. Find the unknown side lengths of both triangles.

XY =3.6.PN=15
18. Find the length of the altitude shown in AXYZ. 2. 32

19. Find and compare the areas of both triangles. ’Y

Area of AXYZ = 6.96; Area of AMNP = 43.5;
The area of similar triangles differ by the scale

factor squared.

~

seale facmr of WXYZ to MNOP.

Fi the values of x, yand z. 15, 8, 135
e vecimicte: of WXYZ. 40 in Exercises 20-22, use the following information.
Swimming Pool The community park has a rectangular swimmi

-

MNO i a rectangular fence for sunbathing. The shape of the pool is mmxlarto the« ha ;\;a‘j"

'_’
-

ind the perimeter of MNOP. 50 .
d the ratio of the 1 eter of MNOP to fence. The pool is 30 feet wide. The fence is 50 feet wide and 100 feet long.
€l 20. What is the scale factor of the pool to the fence?

— e

?'ave 3

————
-

21. What is the length of the pool? 60 ft
' 22. Find the area reserved strictly for sunbathing, 3200 fi*




